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Q.1 Acube is made by folding the given sheet. In the cube so formed, which letter will be on the face opposite to the face

having the letter *Q°?

Question ID : 65497830898

Status : Answered
Chosen Option : 3

Q.2 Select the figure from among the given options that can replace the question mark (?) in the following series.

Ans
*
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Question ID : 65497830897
Status : Answered
Chosen Option : 1




Q.3 Inthe following figure, the pentagon represents “Nepali words’, the circle represents ‘Hindi words’, the rectangle

represents ‘English words’. and the square represents ‘Persian words’.

bl ﬁsj 6|3

0

Which number represents the words of English and Persian that are included in Hindi words?
Ans X 1. 29
X2 35
3 13
X4 16

Question ID : 65497830903
Status : Answered
Chosen Option : 3

Q.4 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.JMO
o 2. SVY
X 3. RUW
X 4.NQS

Question ID : 65497830887
Status : Answered
Chosen Option : 2




Q.5 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans
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Question ID : 65497830899
Status : Answered
Chosen Option : 4

Q.6 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

BY, FU, JQ, NM, RI, ?
Ans X 1.UE

X 2.WD
X 3.EV

o 4. VE

Question ID : 65497830900
Status : Answered
Chosen Option : 4




Q.7  Select the correct mirror image of the given figure when the mirror is placed at 'AB' as shown.
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Question ID : 65497830890
Status : Answered
Chosen Option : 1

Q.8 In a certain code language, 'ATUL' is coded as '1-20-21-12' and 'RAJU' is coded as '18-
1-10-21". How will 'GITA' be coded in that language?

Ans X 1.5-11-22-1
X 2.8-9-20-1
o 3. 7-9-20-1
X 4.6-10-20-1

Question ID : 65497830888
Status : Answered
Chosen Option : 3

Q.9 Select the option that is related to the third number in the same way as the second
number is related to the first number.

154:10::261:7?
Ans X 1.10
2.9
X 3.7
X 4.8

Question ID : 65497830895
Status : Answered
Chosen Option : 2




Q.10 In an imaginary mathematical system, symbol '@’ stands for addition, symbol '$'
stands for division, symbol '&' stands for subtraction, and symbol '# stands for
multiplication. What is the value of the following expression?

165$11#15&4@6
Ans o 1.227
X 2.352
/< 3.355
X< 4.157

Question ID : 65497830896
Status : Answered
Chosen Option : 1

Q.11 Manoj is the father of Kapil. Kapil is the only son of Maya. Kavya is the daughter of
Maya. Neha is the only daughter of Kavya. How is Kapil related to Neha?

Ans X 1. Brother
& 2. Father
/% 3. Paternal Grandfather

4" 4. Maternal uncle

Question ID : 65497830886
Status : Answered
Chosen Option : 4




Q.12 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

= =
= =
(AR

Question ID : 65497830883
Status : Answered
Chosen Option : 3

Q.13 Select the number from among the given options that can replace the question mark
(?) in the following series.

53,74, 95, 116, ?
Ans X 1.125

o 2.137
 3.129
X 4.143

Question ID : 65497830894
Status : Answered
Chosen Option : 2




Q.14 In a class of 75 students, 40 students participate in Cricket, 28 students participate in
Hockey, and 12 students participate in both Cricket and Hockey, whereas 19 students
do not participate in any of the two sports. How many students participate only in
Hockey?

Ans X 1.28
X 2.44
& 3.16
X 4.35

Question ID : 65497830882
Status : Answered
Chosen Option : 4

Q.15 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

_adfb_dfba_fbad_
Ans X 1.abfd
o 2. badf
X 3.dfba
X 4.bafd

Question ID : 65497830892
Status : Answered
Chosen Option : 2

Q.16 In a certain code language, 'INAUGRAL' is written as 'UANILARG'. How will 'PROLIFER’
be written in that language?

Ans X 1.LOPRERFJ
X 2. RPLIFIRE
< 3. ORPIFREF
o 4. LORPREFI

Question ID : 65497830879
Status : Answered
Chosen Option : 4

Q.17 Nine students, Ajay, Gita, Navya, Vipin, Pinki, Kabir, Mohan, Saroj and Rani, are
standing in a row from left to right according to decreasing order of their heights. Ajay
is standing at the middle position. Mohan and Kabir are at the third position from the
left and right side, respectively. Gita is at either of the ends of the row. Navya is
standing to the immediate left of Ajay. Vipin is the tallest among all nine students. Rani
is standing between Ajay and Kabir. Pinki is at the eighth position from the right.

Who is at the second position from the right?
Ans X 1. Mohan
X 2. Pinki
+«" 3. Saroj
& 4. Kabir

Question ID : 65497830893
Status : Answered
Chosen Option : 3




Q.18 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

SNJ: UQL :: XPT : ?
Ans o 1.7Z8V
X 2.YSV
X 3. YTW
X 4.7TU

Question ID : 65497830884
Status : Answered
Chosen Option : 1

Q.19 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Entomology : Insect :: Ichthyology : ?
Ans X 1.Bacteria

5 2. Honey
25 3. Coin
& 4. Fish

Question ID : 65497830901
Status : Answered
Chosen Option : 1

Q.20 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Delicious
2. Deliberate
3. Delinquent
4. Delirium

5. Delicacy

Ans X 1.2,5,3,4,1
X 2.25/1,4,3
«3.2,51,3,4
X 4.3,51,4,2

Question ID : 65497830891
Status : Answered
Chosen Option : 3

Q.21 In a certain code language, 'JAIPUR' is written as 'AJPIRU" and 'BHOPAL' is written as
'HBPOLA'. How will 'INDORE' be written in that language?

Ans " 1.NIODER
X 2. DINRUP
2 3. NDOIER
X 4. DNEERO

Question ID : 65497830885
Status : Answered
Chosen Option : 1




Q.22 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
1. Some flowers are chemicals.
2. Some chemicals are herbs.

Conclusions:
I. No flower is a herb.
Il. Some flowers are herbs.

Ans o 1. Either conclusion | or Il follows
25 2. Only conclusion Il follows
25 3. Only conclusion | follows

< 4. Both conclusions | and Il follow

Question ID : 65497830880
Status : Answered
Chosen Option : 1

Q.23 Select the number from among the given options that can replace the question mark
(?) in the following series.

6, 8, 20, 66, ?
Ans X 1.204
X 2.312
X 3.284
& 4.272

Question ID : 65497830889
Status : Answered
Chosen Option : 3

Q.24 Five friends, Shruti, Shreya, Anup, Ankit and Kiran, are sitting in a row facing towards
the south. Shruti is between Shreya and Anup. Kiran and Shreya are sitting at the
extreme ends of the west and east, respectively. Who is sitting in the middle?

Ans X 1. Ankit
25 2. Shruti
X 3. Kiran
«" 4. Anup

Question ID : 65497830902
Status : Answered
Chosen Option : 4

Q.25 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

(8, 112, 49)
Ans X 1.(15, 85, 25)
X 2. (16, 117, 81)
% 3.(12, 48, 64)
o 4. (7,154, 121)

Question ID : 65497830881
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness



Q.1 Who among the following is the recipient of the Nobel Prize for Literature in 20207

Ans X 1. Kazuo Ishiguro
X 2. Peter Handke
X 3. Olga Tokarczuk
¥ 4. Louise Gliick

Question ID : 65497830915
Status : Answered
Chosen Option : 1

Q.2 Which city in Pakistan is the world’s leading manufacturer of hand-sewn footballs?

Ans X 1.lslamabad
& 2. Karachi
25 3. Multan
" 4. Sialkot

Question ID : 65497830926
Status : Answered
Chosen Option : 2

Q.3 According to the ‘Chaturashrama’ of the Vedic period, which of the following terms is

related to the period of family life?
Ans X 1. Vanaprastha

#< 2. Brahmacharya
& 3. Sanyasa
" 4. Grihastha

Question ID : 65497830908
Status : Answered
Chosen Option : 1

Q.4 The chemical symbol of potassium is
Ans X 1.Ca

X 2P
X 3.Li
o 4K

Question ID : 65497830919
Status : Answered
Chosen Option : 4

Q.5 Who among the following is the sixth Guru of Sikhism?

Ans  # 1. Guru Hargobind
25 2. Guru Ram Das
25 3. Guru Angad
X 4. Guru Arjan

Question ID : 65497830909
Status : Answered
Chosen Option : 2




Q.6 In Agenda 21 of Earth Summit 1992, what does 21 refer to?
Ans X 1.21 months

" 2. 21st century
X 3. 21 official talks
& 4. 21 countries

Question ID : 65497830918
Status : Answered
Chosen Option : 2

Q.7 In which year did the Constituent Assembly of India adopt the National Anthem?
Ans o 1.1950

< 2.1947
X 3.1952
X 4.1949

Question ID : 65497830910
Status : Answered
Chosen Option : 4

Q.8 As of December 2020, which is the only country to win the 60-Over, 50-Over and 20-
Over World Cup in Men's Cricket?

Ans X 1. Australia
< 2. West Indies
& 3.England

o 4. India

Question ID : 65497830907
Status : Answered
Chosen Option : 4

Q.9 Who among the following was roped in as ambassador of the BAFTA
Breakthrough initiative in India in November 2020?

Ans X 1. Shahrukh Khan
«" 2. AR Rahman
25 3. Deepika Padukone
25 4. Akshay Kumar

Question ID : 65497830925
Status : Answered
Chosen Option : 4

Q.10 Which is the element having the highest atomic mass among the following?
Ans X 1. Magnesium

¥ 2. Calcium
& 3. Chlorine
25 4. Sulphur

Question ID : 65497830920
Status : Answered
Chosen Option : 2




Q.11 The five colours of the rings in the symbol of the Olympic Games are red, blue, green,
yellow and

Ans X 1. brown
& 2. orange
& 3. grey
o 4. black

Question ID : 65497830928
Status : Answered
Chosen Option : 4

Q.12 Mount Adi Kailash is located in the state of .
Ans X 1. Arunachal Pradesh

X 2. Sikkim
¥ 3. Uttarakhand
25 4. Himachal Pradesh

Question ID : 65497830927
Status : Answered
Chosen Option : 3

Q.13 While calculating GDP of India at factor cost, Central Statistical Office assesses the
performance of how many different industries?

Ans 1.8
X 24
X 3.6
X 4.10

Question ID : 65497830905
Status : Answered
Chosen Option : 4

Q.14 In which place was the first session of Congress held in a rural area?
Ans X 1. Karumadi

X 2. Punnapra
25 3. Rampur

" 4. Faizpur

Question ID : 65497830906
Status : Answered
Chosen Option : 3

Q.15 Which among the following cities is inscribed on the World Heritage list of the
UNESCO?

Ans X 1.Bhopal
o 2. Jaipur
< 3. Cuttack
/4. Dharamshala

Question ID : 65497830912
Status : Answered
Chosen Option : 2




Q.16 Dhaulagiri is a peak in Himalaya.
Ans X 1. Garhwal

25 2. Kumaon
25 3. Bhutan

o 4. Nepal

Question ID : 65497830914
Status : Answered
Chosen Option : 2

Q.17 The Golden Quadrilateral that connects the four major cities of Delhi, Mumbai,
Chennai and Kolkata is part of the project.

Ans o 1. Bharatmala
#5 2. Shubhmala
& 3. Sagarmala
X 4. Deepmala

Question ID : 65497830913
Status : Answered
Chosen Option : 1

Q.18 Which of the following Articles of the Constitution of India contains the provision for
early childhood care and education to children below the age of 6 years?

Ans o 1. Article 45
< 2. Article 35
75 3. Article 44
< 4. Article 53

Question ID : 65497830924
Status : Answered
Chosen Option : 3

Q.19 Who among the following is the author of the novel 'Oliver Twist'?
Ans X 1. Charlotte Bronte

X 2. EM Forster
25 3. Thomas Hardy
4" 4. Charles Dickens

Question ID : 65497830922
Status : Answered
Chosen Option : 4

Q.20 Warli painting is a style of tribal art created by the people of the Warli Tribe of

Ans X 1.Bihar
X 2. Kerala
¥ 3. Maharashtra
& 4. Assam

Question ID : 65497830917
Status : Answered
Chosen Option : 2




Q.21 As per Swachh Survekshan 2020, which of the following is the cleanest cantonment?
Ans X 1. Varanasi

25 2. New Delhi
+" 3. Jalandhar
X 4. Ranchi

Question ID : 65497830923
Status : Answered
Chosen Option : 2

Q.22 What is the minimum amount of rainfall needed for groundnut cultivation during its
growing season?

Ans X 1.130-155cm
< 2.20-40cm
" 3.50-125¢cm
X 4.30-45¢cm

Question ID : 65497830904
Status : Answered
Chosen Option : 4

Q.23 Who among the following is NOT a professional badminton player?
Ans X 1. Saina Nehwal

" 2. Sania Mirza
& 3. Srikanth Kidambi
7< 4. PV Sindhu

Question ID : 65497830916
Status : Answered
Chosen Option : 2

Q.24 In November 2020, the Ministry of Shipping was renamed as the Ministry of Ports,
Shipping and p

Ans X 1. Fisheries
X 2. Water Wealth
«" 3. Waterways
< 4. Water

Question ID : 65497830911
Status : Answered
Chosen Option : 3

Q.25 Chaitanya, also known as Sri Gauranga, was a popular Vaishnava saint and reformer
from .

Ans X 1. Madurai
25 2. Pandharpur
« 3. Nadia
& 4. Sringeri

Question ID : 65497830921
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics



Q1 If the average 0f 23.26.v.y + 4 and y + 7 is 30, then the value of y is:
Ans X1 35

« 2. 30

<3 32

X4 25

Question ID : 65497830941
Status : Answered
Chosen Option : 2

Q.2 A shopkeeper bought 6 pieces of TV sets at T21,000 each and sold all of them at a total price of ¥1.45,920. What was
the total profit or loss percentage (correct to two decimal places)?

Ans X 1. Profitof 11.21%
X2 Lossof 12.71%
+ 3. Profit of 15.81%
X4 Lossof21.19%

Question ID : 65497830936
Status : Answered
Chosen Option : 3

Q.3 The simple interest on a certain sum for 2 years at 10% per annum is half of the compound interest on a sum of ¥5,000

for 2 years at 10% per annum, interest compounded yearly. What is the sum placed on simple interest?

Ans X 1. 32,750
X 2. 32,500
¢ 3 32,625
X4 32,575

Question ID : 65497830952
Status : Answered
Chosen Option : 3

Q4 What percentage of numbers from 1 to 40 has 1 or 9 in the unit's digit?

Ans X 1. 25.0
X2 350
X3.30.0
« 4 20.0

Question ID : 65497830947
Status : Answered
Chosen Option : 4

Q.5 The marked price of a fan is 1,780 and it is sold for T1.655.40. The percentage discount allowed is:
Ans 1. T4

X 2. 6%

X 3. 9%

X 4. 5%

Question ID : 65497830938
Status : Answered
Chosen Option : 1




Q.6 Atminis going ati of its usual speed and it takes an extra 60 min to reach its destination. Find its usual time to cover

the same distance.
Ans X 1. 25 min
X2 15 min
Z 3. 10 min
+ 4 20 min

Question ID : 65497830949
Status : Answered
Chosen Option : 2

Q.7  The speed of a car is 1% times the speed of a bus. A train covers 1200 km in 15 hours. How much distance will the car

cover in 7 hours if the speed of the bus is li times the speed of the train?

Ans 1. 840 km
X 2. 860 km
X3 720 km
X 4. 820 km

Question ID : 65497830944
Status : Answered
Chosen Option : 1

Q.8 2
43+-0f28-7 p
The value of —— T 75 il
(?ETEXZ.E)—IEDI—(E—E

Ans X1 3§

x2]

<3 20

¥4 2

Question ID : 65497830940
Status : Answered
Chosen Option : 4

Q.9 From a cuboid with sides 4 cm. 5 cm and 6 cm, cubes of side 1 cm have been removed from every corner. What is the

volume of the remaining solid?

Ans 1112 cm?
X2 60 cm?
X3 24 cm?
X4 114 cm?

Question ID : 65497830932
Status : Answered
Chosen Option : 1




Q.10 If the simple interest for five years is equal to 35% of the principal, then the rate of interest is:

Ans 3 1. Qog
2. 7%
X 3. 8.5%
X4 8%

Question ID : 65497830943
Status : Answered
Chosen Option : 2

QM What is the value of

5+100f10x4+4=-40f4x 10+ (10—-4)+-16x4?

Ans
x 1. 10
i

11
5
18
5
21

3 i
5

Question ID : 65497830935
Status : Answered
Chosen Option : 2

Q.12

Ans X1, 36 cm
X 2. 66 cm
X3 46 cm
« 4 56 cm

If the volume of a cube is 175616 cm® . what is its side?

Question ID : 65497830953
Status : Answered
Chosen Option : 4

Q.13 A man sold an oven for 8,875 and made a profit of 25% in the process. What would have been his profit or loss per

cent (up to two decimal places), had he sold it for ¥6,9377

Ans 1. Loss, 2.30%
X 2. Loss, 2.29%
X 3. Profit, 2.30%
X 4. Profit, 2.29%

Question ID : 65497830933
Status : Answered
Chosen Option : 2




Q14 The greatest three-digit number which is divisible by 14, 28 and 42 is:

Ans X' 1. 964
¥ 2. 924
X3 934
X 4042

Question ID : 65497830939
Status : Answered
Chosen Option : 2

Q.15 The average weight of 30 girls in a group is 35 kg. When a new girl is included, the average weight increases by 2 kg.
What is the weight of the new girl?

Ans X1 48 kg
X2 64 kg
X3 79kg
4 97 kg

Question ID : 65497830945
Status : Answered
Chosen Option : 4

Q.16 A can complete a project in 10 days and B can complete the same project in 15 days. A and B start working on the
project together and A quits 5 days before the project is completed. In how many days is the project completed?

Ans 1. 9
X25
X310
X4 7

Question ID : 65497830948
Status : Answered
Chosen Option : 4

Q.17 Three numbers A, B and C are in the ratio 4 : 5 : 8. If each number is increased by 15%, 24% and 35%, respectively,

then the new ratio of the numbers will be:

Ans 1. 23:31:54

X2 21:31;54
<3 23:30.:44
K4 23333 :54

Question ID : 65497830942
Status : Answered
Chosen Option : 4




Q.18 A man sold an almirah for T960 at a loss of 4%. He then sold a folding bed for T840 at a profit of 20%. Find his profit or

loss.

Ans  X1. 100% loss
« 2. T100 Profit
X 3. F120 loss
X 4. %340 proft

Question ID : 65497830950
Status : Answered
Chosen Option : 2

Q.19 1fT12.800 is invested in a bank for 5 years at the rate of 9% per annum simple interest, what amount is returned by the
bank?

Ans 1. Z18.560
X 2. 18,650
X 3. 35,760
X 4. 319,694

Question ID : 65497830934
Status : Answered
Chosen Option : 1

Q.20 Ram bought a chair at 35% discount on its marked price. Had Ram got no discount, he would have had to pay 245
more. How much did Ram pay for the chair?

Ans 1. F455
X2 425
X3 T375
X 4. 3400

Question ID : 65497830946
Status : Answered
Chosen Option : 1

Q.21 A bag contains T310 in the form of 5 rupee, 2 rupee and | rupee coins in the ratio 4 : 3 : 5. What is the number of 5

rupee coins?

Ans 1. 40
X2 30
X350
X4 20

Question ID : 65497830951
Status : Answered
Chosen Option : 1




Q.22 Which is the smallest number which when divided by 6, 8 and 10 leaves remainders 4, 6 and 8, respectively?

Ans X' 1. 120
X2 58
X3 122
+ 4 118

Question ID : 65497830929
Status : Answered
Chosen Option : 4

Q.23 A candidate scores 25% and fails by 32 marks, while another candidate who scores 40% marks, gets 28 marks more

than the minimum required marks to pass the examination. How many marks did a candidate score if he scored 72%
marks?

Ans  X'1. 400
X2 132
3. 288
X4 204

Question ID : 65497830930
Status : Answered
Chosen Option : 3

Q.24 Aand B together can complete a certain work in 20 days, B and C together can complete it in 30 days and C and A

together can complete it in 24 days. In how many days will A alone complete i part of the same work?
Ans 1. 3()
2 20
<3 48
x4 80

Question ID : 65497830937
Status : Answered
Chosen Option : 3

Q25 YWhat is the fourth proportional to 9, 21 and 123?
Ans  3C 1 4500
X2 278
« 3. 287
X4 246

Question ID : 65497830931
Status : Answered
Chosen Option : 2

Section : Part D English



Q.1 Select the most appropriate ANTONYM of the given word.
Discreet

Ans . 1. Tactless

25 2. Prudent

25 3. Proud

& 4. Reserved

Question ID : 65497830968
Status : Answered
Chosen Option : 2

words.

Not having knowledge or experience of a particular subject or activity

Ans o 1. Uninitiated
& 2. Expert

5 3. Unknown
25 4. Familiar

Q.2 Select the option that can be used as a one-word substitute for the given group of

Question ID : 65497830964
Status : Answered
Chosen Option : 3

Q.3 Select the INCORRECTLY spelt word.
Ans X 1.Harassment

< 2. Suppress
& 3. Witness
«” 4. Embarass

Question ID : 65497830965
Status : Answered
Chosen Option : 4

Q.4 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Please stay back for Sunnys first birthday celebration at Taj West End.
Ans 1. Sunnys
7<% 2. first birthday celebration
X 3. at Taj West End
X 4. stay back

Question ID : 65497830970
Status : Answered
Chosen Option : 1

Q.5 Select the INCORRECTLY spelt word.
Ans X 1. Existence

«" 2. Garantee
X 3. Believe
X 4. Consensus

Question ID : 65497830966
Status : Answered
Chosen Option : 2




Q.6 Select the most appropriate meaning of the given idiom.

Ans

Once and for all

& 1. Rarely

" 2. Finally

25 3. Gradually
& 4. Immediately

Question ID : 65497830956
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option to fill in the blank.

Ans

| would you to do yoga daily for at least 10 minutes.

" 1. advise
X 2. share
< 3. order
X 4. convey

Question ID : 65497830969
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate ANTONYM of the given word.

Ans

Dull

X 1. Simple

< 2. Unintelligent
X 3. Disagreeable
" 4. Exciting

Question ID : 65497830963
Status : Answered
Chosen Option : 4

Q.9

Ans

Select the most appropriate option to fill in the blank.

Permanent tissues are derived from meristematic tissues once they lose their

to divide.
" 1. ability
2< 2. confidentially
25 3. intellectuality

X 4. sentimentality

Question ID : 65497830957
Status : Answered
Chosen Option : 1




Q.10 Select the most appropriate synonym of the given word.

Mayhem
Ans  # 1. Chaos
X 2. Order
5 3. Rebel
2 4. Plunder

Question ID : 65497830971
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.

Confine
Ans X 1.Ignore
" 2. Restrict
25 3. Allow

X 4. Open

Question ID : 65497830955
Status : Answered
Chosen Option : 2

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The players have admitted / to have done / a month’s rigorous training / before the
match.

Ans X 1.amonth’s rigorous training
«" 2. to have done
X 3. before the match
X 4. The players have admitted

Question ID : 65497830962
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate meaning of the given idiom.

Under the weather
Ans X 1. Able to face the cold

X 2. Extremely active
< 3. Ready to go out
& 4. Slightly il

Question ID : 65497830960
Status : Answered
Chosen Option : 3




Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

A game that no one wins
Ans X 1. Match

X 2. Pastime

£ 3. Sport
«# 4. Draw

Question ID : 65497830961
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option that can substitute the underlined word in the
given sentence.

My teacher described an interesting slaughter she had with one of her students.

Ans  # 1.encounter
5 2. harbinger
25 3. plunder
& 4. volunteer

Question ID : 65497830959
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate option to fill in the blank.

Retail sales of consumer goods and automobiles witnessed a sharp spike during the
season.

Ans X 1. celebrated
o 2. festive
/< 3. concert

X 4.gala

Question ID : 65497830967
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

| haven’t found a job yet but | am going to keep trying.
Ans X 1.keep up trying
X 2. keep to trying
" 3. No substitution required

& 4. keep on the trying

Question ID : 65497830973
Status : Answered
Chosen Option : 3




Q.18 Select the most appropriate option that can substitute the underlined word in the
given sentence.

As a boy, Ravidas used to be very outspoken and avoided all company.
Ans X 1.vulnerable

o 2. timid
25 3. dashing
X 4. bold

Question ID : 65497830958
Status : Answered
Chosen Option : 4

Q.19 Select the option that can be used as a one-word substitute for the given group of
words.

The state of being married
Ans X 1. Matrilineal

5 2. Material
" 3. Matrimony
& 4. Matriarchy

Question ID : 65497830972
Status : Answered
Chosen Option : 1

Q.20 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

John and | likes / to go fishing / in the evenings.
Ans X 1.No error

4" 2. John and | likes
/< 3.in the evenings
& 4. to go fishing

Question ID : 65497830954
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India remains one of the most ethnically diverse countries in the world. (1) from its
many religions and sects, India (2) home to innumerable castes and tribes, as well
(3) to more than a dozen major and (4) of minor linguistic groups from

(5) language families unrelated to one another.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1. Separate

£5 2. Together
#< 3. Outside

¥ 4. Apart

Question ID : 65497830975
Status : Answered
Chosen Option : 4




Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India remains one of the most ethnically diverse countries in the world. (1) from its
many religions and sects, India (2) home to innumerable castes and tribes, as well
(3) to more than a dozen major and (4) of minor linguistic groups from

(5) language families unrelated to one another.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
& 1. were

& 2. be
25 3.am
o 4. is

Question ID : 65497830976
Status : Answered
Chosen Option : 4

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India remains one of the most ethnically diverse countries in the world. (1) from its
many religions and sects, India (2) home to innumerable castes and tribes, as well
3) to more than a dozen major and (4) of minor linguistic groups from

(5) language families unrelated to one another.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.

o 1.as
% 2. with
< 3.s0
& 4. by

Question ID : 65497830977
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India remains one of the most ethnically diverse countries in the world. (1) from its
many religions and sects, India (2) home to innumerable castes and tribes, as well
3) to more than a dozen major and (4) of minor linguistic groups from

(5) language families unrelated to one another.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

" 1. hundreds
#< 2. loads
25 3. sufficient

25 4. ample

Question ID : 65497830978
Status : Answered
Chosen Option : 1




Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

India remains one of the most ethnically diverse countries in the world. (1) from its
many religions and sects, India (2) home to innumerable castes and tribes, as well
(3) to more than a dozen major and (4) of minor linguistic groups from

(5) language families unrelated to one another.

SubQuestion No : 25
Select the most appropriate option to fill in blank no. 5.

o 1. several
< 2. abundant
< 3. quite

< 4. moderate

Question ID : 65497830979
Status : Answered
Chosen Option : 1

Section : Part D Hindi

QA1

Ans

U T a1ew BT 98 I 9 B R g IR B AR A R AR, A dE IR T ¥
frww & |
ot F A TS|

o 1.9l

X 2.1 Ffe T

X 3. AA TR

p I

Question ID : 65497830983
Status : Not Answered
Chosen Option : --

Q.2

Ans

RTe! gaeTT 71 &1 oI 9P TR & Y T 21 g -
X 1. TS

X 2. 30

X 3.9

o 4. 31T

Question ID : 65497830999
Status : Not Answered
Chosen Option : --

Q.3

Ans

fraa =T Ft gfd & fore T Suga eg H1 797 BI-
g fiifa 8t 3o+ & SareR oft g

o 1. o

X 2. fpa

X 3.

X4

Question ID : 65497830989
Status : Not Answered
Chosen Option : --




Q.4 T Tt aTS Weg BT 9T BN
Ans 1 3ifdERUg

X 2. sffaeRiyg
X 3. SfauRuig
X 4. ifawoifg
Question ID : 65497830992
Status : Not Answered
Chosen Option : -
Q5 <3if@ Gar geraX o1 3 qarse-
Ans X 1 IY 3
o 2. QaUE gl
X 3. 9F®R gl
X 4. GR35
Question ID : 65497830988
Status : Not Answered
Chosen Option : —
Q.6 3T Y Reg & THFH g BT TgT |
3ifg
Ans X 1 Gch
X 2. dal
X 34dR
VER "
Question ID : 65497830984
Status : Not Answered
Chosen Option : —
Q.7 WE ot aTd Weg 1 IGH BY|
Ans X 1 3Efarfi®
X 2. SRYIN®H
3. Sitfaiitie
X 4. srfandfe
Question ID : 65497830993
Status : Not Answered
Chosen Option : —

Q.8 g MY Aeg F FAMTA Weg BT TG I |
BE
Ans X 1.9%<
X 2.3fd
X 3.fau

4T

Question ID : 65497830996
Status : Not Answered
Chosen Option : —




Q9 %qmmiﬁiﬁ I 19 B o P18 3 31 AR PR IR T, AP IR AP
I

Rt 7 (1) 4@ & wad 58 (2)\ R s s fan g #E IR & 2 @)
Ans X 1.4
x 23
& 3.2
x 4.1

Question ID : 65497830985
Status : Not Answered
Chosen Option : —

Q10 et & & B9 a1 e =g 1 e @ &
P
Ans X 1 gurf
X 2. 3ffcdd
o 3. U
X 4. drdidd

Question ID : 65497830990
Status : Not Answered
Chosen Option : -

Q.11 gﬁqmmmwmmﬁmﬂéﬁ%mﬁﬁ?aﬁﬂﬁ%ﬁﬁaﬁﬂﬁ%
I

A gR (1) IRD IR (2) FETR (3) DL IR TA R (4)
Ans X 1.3

X 24

3.2
X 4.1

Question ID : 65497830995
Status : Not Answered
Chosen Option : —

Q.12 3y 78 a1 ¥ YEried @ o ufawiftd s+ & fore aad suged e sraga ad)
uﬁsﬁuﬁwﬁaﬁ B DI AERAHAT 78l ¢, Al [Apey et agare i sraxaear TE &
PTIAT BN

WIS TS g8 T IR s
Ans X 1. URM U
X 2. URY fdar
3 URH DI
X 4. il e[ i saaddl ol |

Question ID : 65497830982
Status : Not Answered
Chosen Option : —




Q.13 7159 ¥ U 518 ST - TR F Rie T v 3R
Ans 1 IwEE

X 2. T@Ie

X 3. g

X 4.7

Question ID : 65497830980
Status : Not Answered
Chosen Option : —

Q.14 fog 7 area & fog e v o
ot et T S s ad
Ans 1 3FIUFT
X 2. 3{HIUY
X 3. 3T
X 4. 3@pHUY

Question ID : 65497830987
Status : Not Answered
Chosen Option : -

Q.15 f3g 1Y weg F faeiw < o1 997 H

)

Ans 1 TR
X 2. dgdl
X 3.3g

X 4.7y

Question ID : 65497830986
Status : Not Answered
Chosen Option : —

Q.16 3y 7T arey ¥ YEIfed e &I Ufaiiid $ & e Had Suged fawer &1 9aa 331
uﬁsﬁuﬁwﬁaﬁ B B HARAHAT el 8, f RAwey Tt agame # snaxgwar 78 &
BT I B

HIF BT 3T Arr-RaT S T=6H S S0 AT W
Ans X 1 ol 9cdrd i SaadHdl ol ol
X 2. T IR
X3 THAF IR
&4 TR

Question ID : 65497830994
Status : Not Answered
Chosen Option : —




Q17 R w31 U ¥ forg et Sugea W= @1 79 SR
yRAMERpfa S _ FdEm
Ans X 1 Tifcrgiferar
X 2. iialiat
3. TiiaTiiq
X 4. TRETR

Question ID : 65497830981
Status : Not Answered
Chosen Option : —

Q.18 3 Ry are & Rea-wm= 3t i & forg v Sugew g o1 ag= 381
mw__ gdndfigdea
Ans X 1 BB
o 2. Gsohdl
X 3. WEHal
X 4. Hwsahdl

Question ID - 65497830997
Status : Not Answered
Chosen Option : -

Q.19 3 ¢ arey ¥ YErea @ o uforuifia $39 & fo aad Suged fawen o1 9aa 3
u&sﬁuﬁwﬁaﬁ B B ITGHAT 16l 8, O [apey ot agara 3t sraxgsar T8 &
PTG BN

FAT BT FE1-AT FBT SHTT|
Ans X 1 efidn
X 2.3®1
3. {53 e @t sraadhdl Tel 8l
X 4 g

Question ID : 65497830998
Status : Not Answered
Chosen Option : —

Q.20 Iy faweq &1 997 S o 19 3T T geray o1 3rf o5 Har o-
Sit B IFT I
Ans X 1 fad geRHl
X 2. AT
3. T H 5
X A.SH

Question ID : 65497830991
Status : Not Answered
Chosen Option : —




Comprehension:

i U 71T T # U 9 Wk gl AU Y § 1 el Ul H UdS G o Y Wed Jugad
fawey ST TgI B3

WaAdl Pl i dfdaHl drgfde sl gl (1) i =8 fircl S UM & forw (2)
Tuy &A1 US| fhem gt I U1 1 afer ol TS S 1857 H(3) el

T gafl| 39 aeiars, | 951G MG WHR oY 3D (4) I afcieH fean 39

T  1G IS Y HRA R G AR U $S Uil 0 Ty T T fbg A B (5)

RGUGIRS]!

SubQuestion No : 21
Q.21 T & fYaa I (1) ¥ fore waifte Suges wee -
Ans X 1 I9dd

2. Gaadl
X 3. Aidad
X 4. WAl

Question ID : 65497831001
Status : Not Answered
Chosen Option : —

— — —
Comprehension:

i U 1T T 7 U 9 Wek gl QU L § 1 alid Ul H UdS G o oY Wel Sugad
famed @1 9@ B

Al B 3ideN sl dIgfdemgisd (1) e & =81 el S UH & o (2)

wﬁmumﬁmﬁzﬁgaﬁﬁmﬁaﬂaﬁﬁu@lmws?ﬁm aAdl
T gl I TEiaTs, drmeld, SeTgE W6 FhY O SR (4) I s fean 3w
Hﬂufﬁiaﬁaiﬁzfguﬂamqammml $S UIdl db GIN T 1411 fdhg ecl 3 (5)
RGUCIEE]]

SubQuestion No : 22
Q.22 e & e wIF (2) ¥ forg waifie Suge weg 8-
Ans X 1 TIYRT

X 2. 3H
o 3. Dl
X 4. 3\ER
Question ID : 65497831002
Status : Not Answered
Chosen Option : —
Comprehension:
i< fou 1T T 7 U @ Wek gl QU U § 1 alid vl # Ude G & Y Yed Jugad
fadeg BT 9gI Bl
WaAdl b1 3fder sfieHl &1 3fiier g1 84 (1) g # 78t fireh SWuR & R (2)
Iy H=A1 US| fava gt DI ol &t &l &t gSt G 1857 H(3)_ ¥ddadl
T gail 399 aefiers, | SETGR X018 R oY 3 (4) I afereH foan 3w
M$maﬁa§ﬂﬂawqa TR T S I 7 T T TN Fbg S 3 (5)
RRUGIEE]

SubQuestion No : 23
Q.23 TR & e WF (3) ¥ fore waifte Iuge =g 8-
Ans X 1.9gd
X 2.qda
X 3. fgdm
o 4. T

Question ID : 65497831003
Status : Not Answered
Chosen Option : -




Q.24

Ans

Comprehension:

i U 71T T # U 9 Wk gl AU Y § 1 el Ul H UdS G o Y Wed Jugad
fawey ST TgI B3

WaAdl Pl i dfdaHl drgfde sl gl (1) i =8 fircl S UM & forw (2)
Tuy &A1 US| fhem gt I U1 1 afer ol TS S 1857 H(3) el

T gafl| 39 aeiars, | 951G MG WHR oY 3D (4) I afcieH fean 39

T  1G IS Y HRA R G AR U $S Uil 0 Ty T T fbg A B (5)

RGUGIRG]
SubQuestion No : 24
TR ¥ fYaa wiF (4) F o waifte Suged wee 8-
X 1. Sar
2. Sl
X 3.9@1g
X 4.

Question ID : 65497831004
Status : Not Answered
Chosen Option : —

Comprehension:

i U 1T T 7 U 9 Wek gl QU L § 1 alid Ul H UdS G o oY Wel Sugad
faded BT 9gI Bl

Al B 3ideN sl dIgfdemgisd (1) e & =81 el S UH & o (2)
mﬁmmlﬁmﬁzﬁgaﬁaﬂwﬁaﬁaﬁrﬁu@lmwﬂﬁm aAdl

T gl I TEiaTs, drmeld, SeTgE W6 FhY O SR (4) I s fean 3w

Ty & 1 3Ee 3 HRA W G SR U $S Wil ab GaY S 711 b SIS B (5)

RiGUGIRS]!

SubQuestion No : 25

Q.25 e & fyaa i (5) & e waifie Suged W= 8-

Ans

1. R

X 2.9
X 3. @l
X 4.99e

Question ID : 65497831005
Status : Not Answered
Chosen Option : —
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